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(20%) SKHTFIRSY TR g o
(@) Bxy+yddx+ (x> +xy)dy =0 (b) y"' — 6y’ +9y = 4e3*
(20%) Solve the IVPs (initial value problems) by the Laplace transform
y(0)=35, y'(0)=-10

y" + 7y + 12y = 21e3,
? (b)) y(O= LY (s)} =7
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(20%) phEE f(x) = x2%,0 < x < 2m,
() EBdARk Fourier 4 f(x) =%+i(an cosnx+b, sinnx) - FHHAfFy 2m o
f(0)+ f(O*))

1 1 1
es e 4= =
(b) HEZEF > I 5+ o+ 5+ @ﬂ 00 ==

2x—3y+2z=1

(10%) ES FAIERME TR Uiy 2 8P = (parametric form) - { x—6y+ z=2
—x—3y—z=1
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(10%) K H T FEFERY 52 2B FH (inverse matrix)E2{ 7%= (determinant) - \1 2 3
1 3 6

(L09%)5K H N3 [ 5% (divergence) BiLjig & (curl) «
A= (x%—yDa, + (2 = 29)a, + (v - 2D)a,
(L0%) 3k 4l &85 V=x2+y? +22% + 2xy 1F%:(1,2,1)H7H5 & (gradient) £
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